| number of missing inner layers

<hits> vs n

Ratio

missing_inner_layers

| number of missing outer layers

missing_outer_layers

= - ~— Entries 5176 1 ~— Entries 5176
E ' ' Mean 0.1258 ' Mean 3.46
r N : Std Dev 0.3459 N Std Dev 3.196
lo_l E "~ " """"" ‘ o mllsslng;mnerilayers 10_1 """"""""" ‘ o mlssmgiouleri\ayers
F ¢ [Entries 5709 P ¢ [Entries 5709
r : : Mean 0.1226 r : Mean 2.651
_ B H Std Dev 0.3369 _ . Std Dev 3.114
107 E : T 107 E v g v :
F . N missing_inner_layers F N . missing_outer_layers
L i [ Entries 5709 L i [ Entries 5709
Y R DR S 1. | Mean 0.1226 Bl P I 1. | Mean 2.651
10 E : + | Std Dev 0.3369 10 E : + | Std Dev 3.114
107 N AR R 107 :
10°F 1072 e Peeeees
10—61 T .910—61_-|“|“|- - I - .'..'..'..[.'..'.. T
B T [ _+_ + H -+
[ @ 5 .
0.8~ 08:+-+-++ ------------- pomenea-
: . : T 44! E .
06 """""" Rk R P 06__ """"" e - - oo LR
0 05 115 2 25 3 35 4 45 5 0 5 10 15 20 25
m—— DQM_V0001_R0O00000001__Global__cmssw1000time__RECO
—| ==—e== DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
@ m— DQM_V0001_R000000001__Global__mkFitOLD-checkDet_ RECO
C ™ Entries 5176
20
o | Mean 6.15
18 *LStd Dev 4.438
C <] : : : I
16 10 H hits
F- 7| Entries 5709
- | Mean 7.929
14 M *| Std Dev 6.04
E D THE =M T LT 1
12 21 hits
F 10°E: Entries 5709
10 [: :
8 L. J..
6 10
4 .
oF e ™
= .
@ Qfre k- DED SRR LEEEE T PP PP
15 @ - . +++
G ST SUTIRT SIRMRE SRR SN
L : : - . 8 . .
—— [+ ey . . . .
-3 0 5 10 15 20 25 30 35 40

num_simul_pT
Entries 143227
R e A Mean 2.096
lo Std Dev 5.929
: I
num_simul_pT
- Entries 143227
107 A Mean 2.096
o Std Dev 5.929
' : I
B num_simul_pT
1073t Entries 143227
= Mean 2.096
F Std Dev 5.929
lO_AE_ -----------------------------------------------
10—5-F .......... e A B
totf il
‘llllluulillllll“||5||||‘ LU
;_I'TTTTTTTTTETTTTTT”'|E|||”
095 i i - .
10 1 10 10 10
TP P

track hits

num_reco_pT

Entries 5909
r Mean 2.396
il Std Dev 9.299
10 kT T i
E num_reco_pT
N Entries 6238
> Mean 2.284
10°F Std Dev 6.122
E : I
o num_reco_pT
3 B Entries 6238
10°F Mean 2.284
E Std De 6.122
10—4 §_ ..................................
-5
10
[ [
o107
=R | L REEE SEERRRRRE (T, i A ERAT EXARECEREEREE
v
I RRE ERREREEDE 0 & 1 15 E) SEE A EEEEEEEERs
1 .................
— 3
107 102 10
track p_




	Contents
	Page 1


